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This question was less popular as indicated by the fewer number of attempts. The first part of
the question was generally well done but some students had difficulty with explaining the
physical relevance of the results obtained in (a) (iii). Others had difficulty with deriving the
condition for finiteness of the mean squared value of the mth derivative of x(%) in (b).
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indicated by the large number of attempts. Part (a) was
formulating the design criteria for
(b)). Some students had difficulties

This question was fairly popular as
generally well done. Some students had difficulties with
reducing impact probability in a cost-efficient way (part
with deriving the expression for the fatigue damage in (¢).
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Q3 SONAINGTS COMMNSTY :

This question was popular as indicated by the large number of attempts. It was also generally
well done as indicated by the high average and it appeared that most students had a good grasp
of the underlying concepts. Some students had difficulties with proving that two of the three
singular points were saddle points. Some students also had difficulties with sketching the
restoring force as a function of vibration amplitude in (d).
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This q{Jestion was less popular and also was the least well done as indicated by the low average.
Many students had difficulty sketching the output waveform for this system and then with
deriving the Describing Function in (b).
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